Lesson 11-1

Example 1 Real-World EXAMPLE Convert Larger Units to Smaller Units
Peggy is 3 feet tall. She must be 48 inches tall to ride a roller coaster. Is she tall enough?


3 ft = 
 in.

Larger units (feet) are being converted to smaller units (inches).

Since 1 foot = 12 inches, multiply by 12.


3 × 12 = 36


So, 3 ft = 36 in.


Since 36 inches is less than 48 inches, Peggy is not tall enough to ride the roller coaster.

Example 2 Real-World EXAMPLE Convert Smaller Units to Larger Units

A wall is 96 inches tall. How many feet tall is the wall?


96 in. = 
 ft

Smaller units (inches) are being converted to larger units (feet).

Since 1 foot = 12 inches, divide by 12.


96 ÷ 12 = 8


So, 96 in. = 8 ft. The wall is 8 feet tall.

Example 3 Parts of Units

Convert 14 feet to yards.


One Way: Use feet and yards.


Since you are changing a smaller unit to a larger unit, divide.


14 ÷ 3 = 4 R 2

1 yd = 3 ft

The remainder 2 means there are 2 feet left over.


14 ft = 4 yd 2 ft


Another Way: Use fractions.


14 ÷ 3 = 4 R 2

4 R 2 means 4 yards 2 feet

The remainder 2 means there are 2 feet of a yard left over. The fraction of a yard is 
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So, 14 ft = 4
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